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All these element transformations are summarized in Table 2.5.

As an example, consider the design of a bandpass filter having center frequency at
1 krad/s and 100 rad/s bandwidth. Assume that, from additional specifications, a sixth-
order Butterworth bandpass filter has been found suitable.

Lowpass-to-highpass Transformation  with ωc the cutoff frequency

Element Impedance New element value
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Lowpass-to-bandpass Transformation 

Element Impedance New element values

Ln

L and C in series

Cn

L and C in parallel

Lowpass-to-bandstop
Transformation 

Element Impedance New element values

Ln

L and C in parallel

Cn

L and C in series

TABLE 2.5

Element Transformations
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